Economics 3250 Dr. Lozada
Spring 2008 Exam 1

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 25 points. There are six questions on the
exam. The questions are worth different numbers of points,
as indicated on the exam.

Put your answers to the exam in a blue book or on blank
sheets of paper.

You have one hour (that is, until 2:25pm) to take this
test. After the test is over, I'll lecture until the regular class
period ends.

Answer the questions using as much precision and detail
as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following six questions.

. [5 points] Consider the following statement:

It is best for society as a whole if the quantity produced of
a product makes MNPB equal to zero.

This statement is sometimes true and sometimes false.

(a) Give an example of when it is true. You will need to explain what
the acronym MNPB stands for, and explain what it means when
MNPB equals zero.

(b) Give an example of when it is false. Draw a graph to explain
what output is best for society in this case.

. [4 points] What is the “invisible hand”? What is its relevance for
Econ. 32507

. [4 points] Argue that the following statement is false:

Cost-benefit analysis is a perfect way to determine what
choices society should make.

. [5 points] Explain the role of hedonic pricing in environmental eco-
nomics. (This requires you to explain what hedonic pricing is.)

. [3 points] It is often observed that experts in risk assessment have
very different ideas than laymen about the probabilities of various
kinds of environmental damages occurring. Give one example of why
laypeople may assess probabilities incorrectly. (We talked about sev-
eral in class.) Explain the example you chose.

. [4 points] Suppose a regulator is trying to decide whether to ban a
pollutant outright, or whether to use cost-benefit analysis to find an
optimal (possibly greater than zero) amount of the pollutant to allow.
Argue that one way to look at this “ban versus cost-benefit analysis”
decision is as a tradeoff between equity and efficiency.
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